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				Slope MN: ____				Slope MN: ____

				Slope RS: _____				Slope RS: _____
20.) Write the equation of a line in slope intercept form which pass through the points A(5.1) and B(8,-2)







21.) Write the equation of a line in slope intercept form which pass through the points A(-5,-2) and B(-8,-2)






22.) Write the equation of a line in slope intercept form which is parallel to 
 and passes through the point (-3,2). 







23.) Write the equation of a line in slope intercept form which is parallel to 
 and passes through the point (-1,-2). 









 24.) Write the equation of a line in slope intercept form which is perpendicular to  and passes through the point (2,-2). 








25.) Write the equation of a line in slope intercept form which is perpendicular to  and passes through the point (0,-15).
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Which of the following conditions verify that p | ¢?

A /6=r12 B./2=/4
C..8=,16 D.z11=213
E. 26 and £7 are supplementary. F. 2 215
G. 27 and £10 are supplementary. H. - £16
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Given the following information, determine which lines,
if any, are parallel. State the postulate or theorem that
justifies your answer.

1./3=127 2.,9=/11

3./2=/16 4.m/5+ m/12 = 180
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Given the following information, determine which lines,
if any, are parallel. State the postulate or theorem that
justifies your answer.

1.m/BCG + m/FGC = 180 2. /CBF = +GFH

3. LEFB = /FBC 4. /ACD = LKBF
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In the figure, m£2 = 70. Find the measure of each angle.
1./3 2./5

34
3./8 4.1 i s
5.4 6.6 7

In the figure, m£7 = 100. Find the measure of each angle.

7./9 8.26
9./8 10. 22
11. 25 12. 211

In the figure, m£3 = 75 and m£10 = 115. Find the measure
of each angle.

13. 22 14. /5

15. 27 16. 215

17. 214 18. 29
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In the figure, m£3 = 110 and m£12 = 55. Find
the measure of each angle.

1. /1 2. /6 3. /2
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In the figure, /3 = 43. Find the measure of
each angle.

1. /2 8. /7
9. /10 10. Z11
1. Z13 1. /16

In the figure, /1 = 50 and m1.£3 = 60. Find
the measure of each angle.

13. /4 4. /5
15. /2 16. /6
1. /7 18. /8
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Determine whether MN and RS are parallel, perpendicular, or neither.

1. M(0, 3), N(2, 4), R(2, 1), S(8, 4) 2. M(-1,3), N(0, 5), R(2, 1), S(6, 1)
3.M(-1,3),N(4,4),R(3,1),5(-2,2) 4. M(0, -3), N(-2, -7), R(2, 1), S(0, —3)
5. M(-2,2),N(1, -3), R(-2,1),5(3,4) 6. M(0,0), N(2,4), R(2,1), S(8, 4)

Find the slope of 7N and the slope of any line perpendicular to MN.
7. M2, -4),N(-2, -1) 8. M(1, 3), N(-1,5)

9. M(4, —2),N(5, 3) 10. M(2, —3), N(—4, 1)




